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1
The popularity of the prophecies of Nostradamus shows no signs of declining. But it is something that we should regret. Many of the prophecies require that we do a lot of generous interpretation to make them work. (For example, his apparent prophecy of the attack on the World Trade Centre requires us to see the ‘seventh month’ of ‘1999’ as meaning September 2001, and ‘the great new city’ ‘at forty-five degrees’ as being New York, though its latitude is at forty degrees.) It is obvious that the need for such interpretation means that people just make the prophecies fit with events that have already happened. In this way, the prophecies will always come true.

Which of the following is the best statement of the main conclusion of the above argument?

A 
The prophecies of Nostradamus can all be shown to be true.

B 
The prophecies of Nostradamus are as popular as ever.

C 
The continued popularity of the prophecies of Nostradamus is not to be welcomed.

D 
People just make the prophecies of Nostradamus fit with what has already happened.

E 
Many of the prophecies of Nostradamus have to be interpreted generously for them to appear to predict the future.

2 
People often worry that the Earth is likely to be hit by an asteroid. There have been examples from history, with perhaps the most famous being the one which hit the Earth 65 million years ago, probably causing the extinction of large numbers of species including the dinosaurs. However, we need not worry that such a thing will happen again. Scientists would have at least ten years’ warning that an asteroid was on course for Earth. If the asteroid could be shifted from its course by no more than a centimetre every second over ten years, it would miss us.

Which of the following is an underlying assumption of the above argument?

A 
It is known how many asteroids are on a collision course for Earth.

B 
Asteroids that hit the Earth cause widespread devastation.

C 
Technology can be developed to enable us to move the course of asteroids.

D 
No solutions to the problem of asteroids hitting the Earth other than shifting their course would work.

E 
The risk of the Earth being hit by an asteroid has always been exaggerated.

3 
It has long been accepted that gun crimes could be solved by matching the bullet used in the crime with those in a suspect’s box of ammunition. The belief was that each batch of lead in the making of bullets is unique. However, the lack of knowledge about bullets in circulation means that the chances of an accidental match might not be as low as the police believe. There is also evidence that shows that batches made months or even years apart have the same chemical composition. All we can say is that bullet A and bullet B have the same chemical composition, but not whether the two bullets come from the same box. Therefore, all convictions based on bullet- matching evidence need to be reviewed.

Which one of the following, if true, would most strengthen the above argument?

A 
Many suspects in gun crimes will have more than one box of ammunition.

B 
Not all gun crimes are solved using bullet-matching evidence.

C 
Some gun crimes can be solved by matching marks on the bullet used with those in a gun barrel.

D 
Bullets from the same batch can vary in their chemical composition.

E 
Records of the chemical composition of each batch of lead used in the making of bullets are not kept.

4 
In a study involving 42 countries, it has been shown that married people are happier than those who remain single. The study also showed that it is not the living with someone in itself that makes the difference. Couples who lived together without being married did not experience the same levels of happiness. The explanation probably lies in the lack of security that not being married represents. Insecurity is not good for people. We should therefore be pleased that, since marriage makes people happy, the UK has the fifth highest marriage rate in the world (unlike Ireland which has the lowest marriage rate in the world).

Which one of the following, if true, would most weaken the above argument?

A 
Most people who live together without being married end up getting married.

B 
The marriage rate in the UK has declined over the past thirty years.

C 
People who are married do not maintain high levels of happiness throughout their marriage.

D 
People who are happy are more likely to get and to stay married.

E 
Happiness increases or decreases as a result of a wide range of factors, such as income and religious belief.

7 
Museums throughout the world have human remains often dating back thousands of years. It has been recommended that these remains should be handed back to the descendants. However, this is not a good idea. It is not always obvious that there are any recognisable descendants to claim the remains. With remains that are thousands of years old, is there always a group who can claim that the remains are those of their ancestors? For example, who should have the skull of ‘Manchester bog man’, killed in a Celtic ritual around AD 120? Do we give it to present-day Celts, whoever they might be? Or to people in the North-West? Given the problems, no human remains ought to leave the museums.

Which of the following is the best statement of the flaw in the above argument?

A 
A general conclusion about human remains in museums is drawn on the basis of nothing more than one example.

B 
The author fails to answer important questions which they raise about the problem of human remains.

C 
The author draws a general conclusion about human remains in museums on the basis of an irrelevant example.

D 
A conclusion about a particular problem with human remains is drawn without considering that there might be other problems.

E 
A general conclusion about human remains is drawn on the basis of only one identified problem.

8 
It is strange that genetically-modified (GM) foods with no reported health risks should be so unpopular, when products with well-documented health risks (such as tobacco and alcohol) are enthusiastically consumed. We are happy to take seedless grapes to someone in hospital, forgetting that Nature never intended grapes to be seedless, so requiring scientists to have genetically modified the grapes to make them seedless. Perhaps it is that scientists can’t guarantee that GM crops are 100% safe that puts people off them. But scientists could not give such a 100% safety guarantee with anything: crossing the road, eating a chocolate bar, drinking coffee, keeping a pet. Yet we are happy to spend our days doing things that are always less than 100% safe.

Which of the following is a conclusion that can be drawn from the above passage?

A 
We are inconsistent in the way in which we disapprove of GM foods.

B 
GM foods are probably safer than many other products and activities.

C 
We should stop doing lots of things that carry high safety risks.

D 
Our judgement of the safety of something does not take into account what scientists say about it.

E 
If scientists could guarantee that GM foods were 100% safe, people would approve of them.

5 
The average weight of a horse’s heart is 4.2 kilograms. But the average weight of the hearts of very successful racehorses is considerably more. For example, a past champion racehorse had a heart weighing 6.25 kilograms. In a study of 400 racehorses, their heart size was measured by an ultrasound scanner, and then the size was compared with their racing ‘form’ (their performance in races). Quite simply, successful horses were shown to have bigger hearts. People who are buying racehorses do not at present have the information about heart size at their disposal. So ultrasound scanning of horses’ hearts should be carried out in order that more informed decisions can be made about which horses to buy.

Which of the following is the best statement of the flaw in the above argument?

A 
Not all horses with large hearts are successful racehorses.

B 
An example of a past champion racehorse is insufficient evidence about all racehorses.

C 
The ‘form’ of racehorses is affected by the skills of the jockeys that ride them.

D 
Intense training of racehorses could result in their having bigger hearts.

E 
The success of a racehorse cannot always be predicted when they are young.

6 
Three small figures carved from ivory have recently been found in a cave in Germany. One is of a bird, one of a horse’s head, and the other has a lion’s head on a human body. They are between 31,000 and 33,000 years old. A similar lion-human figure was found nearby in 1939. They provide evidence that artistic skills developed very early in human development. But the lion-human figures show something further. The creation of animal-human figures is evidence of a belief in ‘shamanism’, in other words that animals and natural forces have spiritual properties. Early humans clearly had a system of religious belief.

Which of the following is an underlying assumption of the above argument?

A 
Artistic skills of early humans were used only for religious purposes.

B 
The creation of animal-human figures must indicate a system of religious belief.

C 
The figures of a bird and a horse’s head indicate a lack of religious belief.

D 
Artistic skills would not have developed without a system of religious belief.

E 
A belief that animals have spiritual properties is normally shown by the existence of carved animal-human figures.

9 
50 million people in the US claim to have an allergy, amounting to one in five of the population. This is an alarmingly large amount, but unfortunately there is evidence that in the UK there is also a high proportion of people claiming to have allergies. This growth is clearly an example of what has been called ‘health hysteria’. There have been many previous examples in history. A notable one was in the nineteenth century, with the outbreak of what was called ‘railway spine’ when people first started travelling on the railways. The condition was apparently very common, but just as quickly as it appeared as a condition, it disappeared. Therefore the present growth in the number of cases of allergies should not be taken seriously.

Which of the following is the best statement of the flaw in the above argument?

A 
The author cannot generalise from the US to the UK.

B 
The author fails to establish that allergies are an example of ‘health hysteria’.

C 
The author fails to explain how the phenomenon of ‘health hysteria’ arises.

D 
The author fails to explain why the number of people claiming to have an allergy has increased.

E 
The author provides insufficient evidence that ‘railway spine’ was a typical example of ‘health hysteria’.

10 
Fishing in the deep waters of the Atlantic Ocean is creating an environmental disaster. The trawlers that fish these waters use vast nets which trail up to 1500 metres down and measure 50 metres across. Nothing can escape these nets, such that after only ten years, many species of deep-sea fish are close to extinction. Deep-sea species often do not start breeding until they are about twenty years old, so that the breeding stock is being wiped out. Such exotic fish as the orange roughy and the blue ling, for millions of years undisturbed in the ocean, could now disappear for ever. Steps need to be taken to ban such deep-sea fishing.

Which one of the following, if true, would most strengthen the above argument?

A
 There is an increasing market for the deep-sea species of the Atlantic.

B 
Stocks of some species of fish in the shallower waters of the North Sea are very low.

C 
Modern fishing techniques such as using sonar to detect fish shoals make it easy for deep- sea fish to be caught.

D 
The Norwegian Government has banned all Norwegian trawlers from fishing for the deep-sea species in the Atlantic.

E 
The Atlantic’s extensive reefs of cold-water coral are smashed by the heavy attachments to the nets used in deep-sea fishing.

11
Nicotine is associated in people’s minds with smoking tobacco. Because of this, it is seen as something that is to be avoided. It should, however, be seen as something that has considerable medical value. It has been shown to be beneficial in the treatment of various physical and mental illnesses, including bowel disorders and schizophrenia. Smokers inhale nicotine along with 3000 or so other chemicals, so this problem of taking it in a sate form needs solving. For both smokers and non-smokers, what are called ‘clean nicotine inhalers’ need to be developed. A huge contribution to public health could follow. Even if nicotine can be addictive, this problem isn’t serious enough to outweigh the major health benefits of its use.

Which of the following is the best statement of the main conclusion of the above argument?

A 
‘Clean nicotine inhalers’ should be developed for both smokers and non-smokers.

B 
The problem of taking nicotine in a safe form needs solving.

C 
Nicotine should be seen as something that has considerable medical value.

D 
A huge contribution to public health could follow the development of ‘clean nicotine inhalers’.

E 
The problem of nicotine addiction should not be seen as serious enough to stop the development of ‘clean nicotine inhalers’.

12 
Fairy stories have recently been criticised for giving the wrong messages to young girls, by showing that beautiful young women always succeed (for example, Cinderella and Snow White), whereas ugly people always, in the end, fail (examples, the ugly sisters and the wicked queen). But this criticism underestimates the value of fairy stories in children’s lives. This value is considerable. Physical beauty cannot be ignored as a contributor to success in people’s lives. Young girls can use the princesses of the stories to explore what it’s like to be the heroine or central character of a story. Both boys and girls need to have happy endings in their stories in order to give them hope that things will work out alright. Children need fantasy in order to stimulate their imagination.

Which of the following is the best statement of the main conclusion of the above argument?

A 
Children need fantasy in order to stimulate their imagination.

B 
There is considerable value in fairy stories for children.

C 
Fairy stories do not give the wrong message to young girls.

D 
The critics of fairy stories do not consider the value of such stories for children.

E 
Both boys and girls need fairy stories to give them hope that things will be alright.

13 
Nearly half of the ice used in clubs and pubs is full of bugs which are known to cause stomach upsets. For example, in random samples taken in London’s pubs and clubs, 44% of ice cubes contained coliforms, potentially harmful bacteria found in the gut. The cause of this widespread problem is poor hygiene by the bar staff. Following an earlier survey in 1997, the Health Protection Agency (HPA) issued guidelines on how ice should be handled, but this widely publicised, new survey shows that the guidelines have been largely ignored. Many serious cases of food poisoning associated with ice have already been reported in the United States. It will not be long before we have lots of them in the UK.

Which of the following is an underlying assumption of the above argument?

A 
Ice is the main cause of stomach upsets for customers of pubs and clubs.

B 
There have not yet been reported cases of food poisoning associated with ice in the UK.

C 
The new survey will not encourage bar staff to improve their hygiene when handling ice.

D 
The guidelines issued by the HPA were not made known to staff in pubs and clubs.

E 
The 1997 survey found the same levels of poor hygiene in pubs and clubs as the new one.

14 
Poisons are, by definition, seen as things to avoid. But there is some evidence that poisons can in small doses actually be good for us. For example, minute doses of dioxins (a significant environmental poison) can cut the rates of certain cancers; radiation can make some insects and rodents live longer (and, significantly, nuclear power workers have lower rates for some cancers than the general population). Perhaps the most obvious example is that of sunshine. In large doses it can cause skin cancer; in low doses it is vital for the production of Vitamin D. We tend to worry that our environment is polluted by various poisons, including weedkillers and industrial chemicals. Given this evidence on poisons, we no longer need to worry.

Which of the following is an underlying assumption of the above argument?

A 
Our environment is polluted by low levels of various poisons.

B 
Weedkillers and industrial chemicals are not a problem for our health.

C 
Our health will suffer if we are not exposed to small doses of poisons.

D 
Previous reports on the danger of exposure to poisons are incorrect.

E 
For the sake of our health, we should ensure that environmental pollution is not cleared up.

15 
Though everybody lies, the brain is programmed to tell the truth. That is why we have to make an effort to lie. We do many things subconsciously to stop ourselves lying, like pausing, swallowing, or putting our hand up to our mouth. However, reading the signals when somebody is lying is not always easy, because people often also do those things when they’re not lying. It is commonly believed that, when people lie, they make less eye-contact. However, evidence indicates that liars make more eye-contact. Lie-detection machines have now been largely discredited. They record changes in breathing and sweating, but this is no longer seen as a reliable indication of lying. This is why psychologists are having to work on new methods of lie-detection.

Which of the following is a conclusion that can be drawn from the above passage?

A 
We are unable to tell when someone is lying or telling the truth.

B 
People are unaware of what their behaviour is like when they are lying.

C 
Lying and the behaviour that accompanies it is unnatural.

D 
Psychologists are able to detect when people are lying.

E 
Spotting when people are lying is more difficult than is commonly believed.

16 
There are 600 murderers in this country who have escaped detection. If there was a national database of everybody’s DNA, then many of these murderers would have been caught by now. Unfortunately, there are those who object to the idea of a genetic database on the grounds of confidentiality. But such objections ignore the fact that much of the personal information about us is already known by the State, via passports, driving licences, and so on. The State has a legitimate interest in any information that can improve the welfare of the people. Though people have a right to have some information about themselves kept confidential, not all things that are confidential are also private. The national DNA database should therefore be set up.

Which of the following is the best expression of the meaning of the word ‘private’ as used in the above argument?

A 
That which is not disclosed to anyone.

B 
That which is relevant only to the individual.

C 
That which the State has no justifiable interest in.

D 
That which the individual wants to control.

E 
That which the State does not know.

